o BEDBEBIRE-E Roz0d

Bes0eD (30@022) udxfuvenas (2:830)-2017
R{D odme - PMAT 102
yaden 23002300 -g0&8(08) 89 @00~ & (03) mEe- s pmEB(03)

yden wemd (06) vdenxl B8 wwwsim.

M. (e S={1+ D he N} @18 0@, infS e sup S ez,

n

() SETER»®
(i) T 9w&ss selustn »® sup S < sup T 20
(i) T ewEsd wuswsim @ infT < infS 90=
eustDsim, e®8 S %= () .

(@) ©ofIBm o010 esewn § uBybeanm gomw ymn mOsis.

a,b € R w8 0fE. Buen € N esew a5b+%@ém@a5b@®®aﬁaﬁfm.

2
3

2). (8) e mOemem Bed £ — N 80 300 wdnewsy lim ( 2n%-5 ) _

n—oo \3n2+7n

20

eusiDsis.

(CFD) {an};ozl, {bn}:)=1 &ew {Cn}?:o=1 wH 8&‘3@ neN 0ew Ay = bn =¢p 8583 g
mSm emm®e ow lim a, = lim ¢, = £ & & o0&y,
n—oeo

n—aoo

lim b, = £ 99 B3 HSBIB.

n—oo

() ows ann@es O (s,) B goesin.

. 1 - i e _ 3+2/n
(1) SRS e (i1) Sp = (1 + n) (iii)) s, = N
Oz a3@&zIE...



(3).

(4).

(a) vwgst vbuesimon IR ece ¢hDm enB® ¢Bwd 9D euvsidss.
() Sp aY®OG Sypq = i &% 51 = 3 @O8nBm ace g0 ¢t go.

(i) Bogn € Neemw 1 <5, < 3304
(i) () €280 ece el 2O

(iii) (s5) e8e08 2o

eusiOsIs.

lim s,, eecsim.
n—co

[ 8o ¢ clene g8 B0 Huinde e edds ¢dmes 6d. f''(c) <058 f 8
gedSa0w P(c, f(c)) calened ud 0 ¢dnE DO eusiDsIs.

f &mw f(x) = x?_; ec® gld Eled v 8.

(1) f 8 gs¥one BYeme B30 i D08 e¢dnm 40mE uiu®d widn mosTm.
(i) [ B ¢0nEsnd wumbih 6 mHBAOEnD crles gfey® $r eewiwsis.

(ili) [ 8 80ed wo Boed edesfeondsign Aed 5O g1 BEase misis.

(iv) f 8 gedncw g8sin.

(@) Y2 x" gemdsins eghe scmsis.

(i) %] < 1 58 eg&w a8 80 |x| = 1 50 O gesend A0S
CISTA (I bl

() |l < 105 goudned? ogfiod Omnd — A0 cusldsis.

(ili) =o» eBmoare men mOD @ B guw CwIBsTs:

eI+ )™ =2.

(a0) owom gEteds O OF egddvwe g8l owd guel ed 8 Bbamw mosin.

M X (G) (i) Zrme™

2n+1

O a@aOE...



(6). (&) 5@ OO e wuwdsy vvn gEFedn OF O ogd B 8 sBfw

®OBTBY:

e'/n nhHn
@) I (-nrtEs iy e T

)  egdhwem Bocds ¢enlmd v §e®midns Be08m90 80 edOsIm.

& & & & o0 ¢
©@ O BO® eun wrweds, svn oD O O egdhe Biednly ece ewd
ge0wdn 0Ee a8umb ¢, §umb ¢ vl Bbee mIsTH.

(l) 2?:1(—__1E (ll) Z$=1(_1)ne—€2 (“1) 2;?:1 (-D)%tan"1n

ninn n2+1

(7). (q) e*eowxeomy”’ —2y +y=0odndms nem Sugd 9D cvsidsis.
ezx

(1+e¥)?

om@sSy' —2y' +ty= Beesis.

2 s
() xdx+ydy= gledy Vi a5 tDmE edmimen D ousId 68 wthdem

x2+y?

Beag® ewwsis.

(&) v= % mednens evd g5t ©OBE (x + y)j—z =x—y ®niamerd
00 en See® etnesIm.

8). (&) cEEtd 8B e@nn vbmews! vun 8ewsy FOBE edmiw Besesis.

2
() E242

dt? E—yz()

- d?y gy
(i) tﬁ+(t 1)dt y=0

() t=080x=2wvy=1w> gd0umn nfDwsiO @D t = 0 eew svm
wewst 8ef vmod 8@ wdmden Degsim:

UE s 0P — gt
dt+dt—|—5x+3y e
dx  dy _
2dt+dt+x+y—3

I




-




